Further Calculus – Trigonometric functions
1. Differentiate

  (a) y = 6cos x                 (b) y = 4sin x              (c) f(x) = 10sin x              (d) f(x) = ⅓ cos x

  (e) y = 8 cos 2x              (f) f(x) =  10sin 3x      (g) f(x) = 3sin 4x              (h) y = ½ cos 8x

  (i) y = sin2 x                   (j) f(x) = 10cos2 x       (k) y = 3sin3 x                   (l) f(x) = 4cos6 x

2. f(x) = 2cos 2x – sin 4x. Show that 
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3. y = 4sin2 x. find the value of 
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when x =  
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   4. Find the equation of the tangent to the curve y = 
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 at the point where x = 
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   5. Find
     (a) 
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6sin x  dx               (b)  
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5cos x   dx              (c)  
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10cos x   dx               (d) 
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6cos 2x  dx

     (e)  
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4sin3x  dx             (f)  
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 8cos 4x  dx             (g)  
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2sin 6x   dx               (h)  
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12cos 6x  dx
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    6. Evaluate 

    (a)           4sin 2x dx         (b)           6cos 3x  dx          (c)        8sin 4x  dx          (d)        10 cos 5x  dx  

     7. 
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 = 10cos 5x. This curve passes through the point 
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. Find y
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     8. The diagram shows part of the graph of

         y = 3sin 4x.
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         Calculate the shaded area. 
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   9. The graphs of y =f(x) and y = g(x) are

      shown opposite.

      f(x) = – 4cos 2x + 3 and g(x) = mcos nx.

(a) Write down the values of m and n.
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(b) Find, correct to one decimal place, the
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     coordinates of the points of intersection

     of the two graphs in the interval 
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(c) Calculate the shaded area.

   9. 
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y = 3sin 4x
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